
BRUH TO '

OUDIN6889910760 Yano's
7) FINE M2 100 Dun 400 UM Mn@no: 400 :- 100=4 UM

UH 4 In 30 07h Mn @no: 3O÷ 4=7.5 win

totals 7.5-4=2.5 UM

Ano@w 2j5 Moo = 62.51. # 3)

-

2) thanks I 8ms with 0.75 kg
0%678 60 EMT with 0.75×60 = 45 kg
workflow 42.5 kg now 45-42.5=2.5 kg

n-niUWZ.SI MOO = 5.555
. . .

= 5.6 t. # 3)

#

3) Winnow 1 TYoiaonooho = ¥,
x 10,000=800 UM

iJwT8N = 10,000-1800 = 70,800 Uh → bJwm%8nd 2

Winnower 2 Tohono TV = Fox 10,80/0 = 864 UM

ooo Winnow 2 Tinnonbetter = 8001-864

= 1,664 3) On #3)

#

4) £0 3 bonn 7

8NNM-VOJT7M 700 VIN

ITO 3 6mW 7 NOT 0406526 3×100 = 300 In

Yahoo 4 Fw MnEwD " 30£ = 75 UM

ooo Tot @action 700 - 75=25 UM

FnrJw Efx 100=25 't # 2)
-

5) ASU 1 840inch rodeo = 1¥ x 40,000=4000 07h

Tamino 15 't = 1¥, x 4000
= 500 UM

ooo 68452N = 40,000 t 4,000 - 600

= 43,400 Um # 4)

→



6) ammines Ho X
+ 8't j IOI X = 7.0871

100

- et j 91 x = 0.9671

100

PETN 7.0871 - 0.9671=275

0-1271=276

X = 21
0.12

X = 1,800 # 3)
⑧

7) nihndbngsndutigvgnnatinwwoowns = 600-225 = 375 AN

50604 307570×100 = 37352
'l.

= 125 't # 7)

I

8) mis
-

- X un

6N " MM 700 UM Ctnfo 2516605 )
pitot 100+25

TOO
X = 100

X = 700×700

725

X = 80

Mn,W 80 VIN MO 90 UM YotnTo 90-80=10 win # 7)

#

9) his = X un MMMM 1,250 UM

DAMN 50 't 6458 7,250.2=625 UM

66M'OJn%T 251. Moi 625×-1×100=25
100€ X(625-7)×751

( 625 - X ) x 4 = X

2500 - 471 = X

2500 = X

-14×2500= 571

X = 25501 = 500 # t )

⑧



10 ) atasnmnw 100 UM

MMMM nKn%oT 25 t' ooo 0995797 125 UM

Damm X t. 66050481757MMU 1100 un ) Woodham 25 UM

5Hot ↳ x 72-5 = 255
t -

x = 2/5×451

X = 20

ooo oriosnnom 20
-

t # 4)

#

11 ) nonunion → Toyotomi 251.
↳ online 19%-252×120 = ffIo, " 120

= 750 VIN

oilmanNYT x Vin Nnamdi 251. Gash 751.vosotmnimnftp.HN
752 x = 150
700 2

X = 7504100

¥

= 2×100

X = 200

o: Mamontov 200 um # 2)

-

72) Vatan 7 VIV 990 um YoinYT lot.

hiryu = x win Hot 19%10-71=990,
X = 9-90×100

¥
X = 900

Virani 2 NO 990 UM Man,W lot

tinier = y un Hoi
y

= 99,0,
y = 9-9047009-0
y = 7,100 UM

OHH mhm,W 2 Van = 9001-1100=2,000 UM

motor 990-1990 = 7,980 UM

ooo Nnn
,
W = 2,000 - 1,980 = 20 VIN

Anson 20 × 11
-

100 - 7%

studio human,w it. # 2)
I



13) minormeter = x um his 480 UM

Yakir 30 't Gambino 7*1×480 = 144 UM

THOT Timmermann = 480-1144

= 624 UM

DAMMAN 20 't . Antun 801. 80057MUTO = 8¥71
OHN 8$ x = 624

700
624×70X =
-

8

X = 780

ooo Timon of 780 um # 4)

→

14) 235,000 = 100,000 t 135,000

100,000 both 4nYJww-6nA = gtfo x 100,000 = 4,000 UM

135,000 YnYJWW- INV = 0¥ x 135,000 = 6,750 UM

;
.

YnYJww%Nv = 4,000+6,750 UM

= 70,750 UM
# 3)

→

15) T 2545 Woodman X UM

I 2546 workin mini 5-1. ooo 660857M 1,0%-5 x = foot x um

I 2547 workin but'm 8-1. ooo 660857M 1001--8
, ¥50 x = 10841052 × um

100 10000

I 2548 6808mm but'N lot. ooo 660857M 1001--10×10841052 x = 710×108×1052 x on
100 10000 1000000

ooo 66088 2548 MmrTniUw (7101110811105)
- *

7000000 708

#
X 100 = 710×11105100000/0 4700

= 1247400-1
10000

= 124.74 t- VOTING 2545

btwn't otinnisosowwoiw 124.74 - too = 24.74 t. # 2)

→

16) Todounemotional 50 newish

tenantmoimtmotoi lot. Maid's 40*0×50=20 overrun

riionennnomrfoi 60-1. Gantu ¥fx 50=30 reshow

007AM n'nebbish GN 50 't. Gary w 15%150-150+501 = 15%0×150 = 75 Newish

MATH 75-(30-120)=25 NEW's

mbsniormoios.mu 25 To # 1)

#



I

17) noncombatants = ,5¥× 40=20 m o: naNeon9uN
'

= 40+20=60 M

ANNOYS 6WdNF% = 150¥, × 20 = 10 M ooo naNno4s9UN'
= 20+10 = 30 m

withdraw = 20×40 = 800 m2

within fun' = 30460 = 1,800 M
'

ooo Withrow'd FW 1800-800=1,000 MZ

Ansar 10002×100 = 125-1. # 7)
800

~

18) hi gauntness X Jinhua' era 19%15 x = 1.1571

Essayers y Kohen' err 19%202 y = 1.2g

WINTON = tzxy
W&wnd9uN' = Iz 11.15×717.29 ) = I 11.387 (XY)

Oeta wn.hu#x1oo=42C1-38lHT)-x10o-- 138%
union tfzxy

ooo uttsndouairwbvvi 138 - 100=38 't # 4)

⑧

19) msbnggymmh.ae X un Fro 18 MY Gantu 1871 UM

686mmMY @e IX Vin Eo 18 MY Gantu 18 (Ix ) um

RIN 18711-18 (Ix) = 8,370
18 ( Xt Ig x ) = 8370

Xt GI x = 837018
871-1771

g-
= 455

157 = 465×8
37

X = 4-5×81
751

X = 248

ooo 8%88MY@ e Zgx = Igx 248 = 7×31 = 217 UM

vW6¥%oTn9TT 280 - 217 = 63 UM

ANON 2¥ x 100 = 29.03 t # 4)

②

20) Bhutan @n9wU72 X ooo VFNIMT = x
'

naw MTN 20-1. n9w9uN'um = 101%20-71 = 1.2x :
.
Notations -41.2×13=7.728×3

↳ohh VEahMTiW'NITs 7.728×3-713 = 0.728×3

Faiths 0.7×283×2×100=72.81. # 3)
#



www optionenow

1) n'7980've riffed = 100 - (70-115+5-130)=40 't

65W NEW tnhnwn = 701-15=25't

= 25 ( 5000 )

= 1,250 UM

WOWOW 2,500 UM UMM 2,500 - 7,250 = 7,250 UM

an n'Howorth = lot.

= 40

⇒
" 5000

= 2,000 UM

ooo 04M£065698040880W not 2,000 - 1,250 = 750 Un # 7)

-

2) 65266%021 = 100 - (50+201-5-15)

= 100 - 80

= 20-1.

Gn60w6Jw = 12¥ x 8,000 = 7,500 UM

ooo 0%079 65W8h 2,000 - 7,600 = 400 um # 1)

⑧

3) 1) n'707AM = 3,7*52×9,60/0 = 3,600 1) nun

2) n'76850WY w not bJwOON = 25 - 12.5 = 12.5 t'

ANJU 72,0652×9,600 = 1,200 win 2) nun

3) n'790%708'm wound nhrtwn = 76.7-8.3 = 8.41.

Gantu 18¥ x 9600 = 806.4 um 3) won # 3)
4) n'707478mmol 60%0021 = 37.5 - 12.5 = 25

'

/.

Aaron ¥5,0 x 9600 = 2,400 UM 4) nun

#

4) winningawn x Ys'

Hoi Eo x = 20

,

X = 20×702 = 400 to'
II

Uprise oTWnVN9qn = 251-40=65 't
ANON Foix too = Yr' # 3)

#



5) mutation- Dognin = 20+22
= 441.

Endow x 3,500 = 1,540 win #

-

6) 07884oiaewwwmnnqa-e.li
InstantHunstanton = 100 - (40+37.21-20)

= 8.8
'l.

ooo Nubbins n'DFW = 40-8.8 = 37.2
-t

ANON 3,76¥ x 50,000=75,600 neurons # 3)

#


